
SCH 4U EXAM REVIEW
1. Chapter 1 Self Quiz pg 95 #1-15

2. Chapter 1 Review pg 96-97 # 1-10, 12-14, 16 ab

3. Chapter 2 Self Quiz pg 145 # 6-15

4. Chapter 2 Review pg 146-147 # 1-4, 9, 12-14, 16, 19-22

5. Unit 1 Self Quiz pg 150-151 # 1-26

6. Unit 1 Review pg 152-155 # 1-11, 13-17, 20-22, 23 a

7. Chapter 3 Self Quiz pg 219 # 1-12, 14-17, 19

8. Chapter 3 Review pg 220-221 # 1-16, 18-19, 22, 24

9. Chapter 4 Self Quiz pg 281 # 11-14, 16-20

10. Chapter 4 Review pg 282-283 # 1-26, 28

11. Unit 2 Self Quiz pg 286-287 # 1-40

12. Unit 2 Review pg 288-291 # 1-3, 5-9, 12-13, 15-18, 25-29, 33

13. Chapter 5 Self Quiz pg 355 # 1-18

14. Chapter 5 Review pg 356-357 # 2-16

15. Chapter 6 Self Quiz pg 407 # 1-17

16. Chapter 6 Review pg 408-409 # 1-16

17. Unit 3 Self Quiz pg 412-413 # 1-30

18. Unit 3 Review pg 414-417 # 1-13, 15-24, 26

19. Chapter 7 Self Quiz pg 522 # 1-20

20. Chapter 7 Review pg 523-525 # 4-20, 24

21. Chapter 8 Self Quiz pg 631 # 1-19

22. Chapter 8 Review pg 632-633 # 1-2, 4-11, 14-16, 18, 20, 22

23. Unit 4 Self Quiz pg 636-638 # 1-40

24. Unit 4 Review pg 639-645 # 1-48, 51-56 a, 57-61 

25. Ch 9 Self Quiz pg 725 # 1-10, 12-16

26. Ch 9 Review pg 726-727 # 1-4, 6-18, 22-23

27. Ch 10 Self Quiz pg 759 # 1-15

28. Ch 10 Review pg 760-761 # 1-5, 9-14, 16

29. Unit 5 Self Quiz pg 764-765 #1-36

30. Unit 4 Review pg 766-769 # 1-13, 17-20, 25, 32-34

31. What are the 2 categories of polymers?  Give examples for each.

32. Explain which type of fats are better for you, saturated or unsaturated.

33. Gasoline is a mixture of different length hydrocarbons.  The mixture of hydrocarbons in gasoline differs for summer and winter.  Explain how the composition of gasoline would differ between winter and summer and why.

34. Identify 3 different types of solids in an ordinary pencil and explain the bonding in each.

35. For each of the following compounds determine the Lewis structure, shape, bond angles, polarity and hybridization

35. PCl3
b)
PO33-
c)
CO2
4) OCl2
e)
SiO32-


36. If water was a linear molecule, how would its properties differ?  Explain whether or not you would still consider it a universal solvent.

37. Compare and contrast the structure and properties of the three allotropes of carbon using reference to the type of bonding.

38.
Draw the following organic compounds. (Be sure you can draw all 3 types of diagrams)

a) 2-chloro-3-methylhexanoic acid

b) cis-1-bromo-2-amino-4-isopropyl-1,3-octadiene

c) N-ethyl-N-methyl-3-aminopentane

d) phenylhexanoate

e) N,N-dimethylbutanamide

f) ethoxy-3-heptane

g) ethyl-2-pentylperoxide


Name the following compounds.
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39.
For each of the reactions below use structural diagrams to show all reactants and products.  Be sure to include all names, reaction conditions and catalysts.

a)
Halogenation of butane.

b)
Addition of water to 2-hexane.


c)
Formation of 2-methyl-4-heptene
d)
Oxidation of 1-propanol with potassium


permanganate.

e)
Oxidation of 2-propanol with potassium


permanganate.
f)
Reaction between methanol and benzoic acid.

g)
Formation of N-methyl-2-aminobutane.

40.
Although paper cups may be better for the environment than styrofoam cups, using your knowledge of heat, explain why are styrofoam cups better for the consumer? 

41.
Use bond energies to determine the heat of combustion for methane, propane and octane.  Based on those calculations, which fuel is more efficient on a per mole and per kg basis?

42.
What amount of heat is required to heat a 125 g piece of ice at -2(C to 60 (C?

43.
What mass of butane would be required to heat 250 mL of water from 20(C to steam at 130 (C?

44.
A reaction has ΔH value of 95 kJ/mol.  If the activation energy for the reverse reaction is 130 kJ, draw a potential energy diagram for the reaction.

45.
If 45 mL of a 0.15 mol/L solution of Pb(NO3)2 was mixed with 85 mL of a 0.25 mol/L solution of NaI, what mass of precipitate would form. The Ksp of PbI2(s) is 1.4  10-8.

46.
10 mL of 0.50 M ammonia (Kb = 1.8 x 10-5) is titrated with 0.30 M HCl. 


a)
What volume of acid is required to reach the equivalence point. 


b)
What is the pH at the equivalence point?  
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